ETEE (EnD) ETRERE (BEER) BEEhEE (Bx=) 2 (20154 11 AEHR) AERIEEER

FEEET
=t A B S5 B Eéﬁ/ S| = SER == A
HITERMERVEEE B . 4 s EaTERMERVEEE AL it
v L FRBAE A | ERTREEE 106 P BT W B
e B -
1 fR=C v G E A 1 TR -
4. B=F R v 4. B =108 2 EE R 4.2 TiF& # 0 EE K& R B TP
HfE -
v S SR, 4.3 ey DB g B 45 -
TORABA 7. REE WIEFERE EE 7.3 M ERP=FRAR -
v
e (cotx)'=—cosec’x
. (secx)' =secxtanx
. (cosec x)" = —cosec x cot x
8. oK HLE Y JE ] v 8. % 4% Iy JE 1) LT E B 8.1 iy TREG T2 -




EEEE

P, S E4H/ N ——
=H £ AA B 315 gﬁ % 2 Ak B8 3] =
RITER RV EE B = s s BETaR e EE B st
9. NEE7TE 9. NEM D EKEIE | MEFEEEED 9.2 AT =R A ¢
H
v . J'coseczxdx:—cotx+c
. Isecxtanxdx:secx+c
. fcosec xCcot x dx = —cosecx +C
v . .
fEEa e 95 fyERh DL 1
'az _ X2 z
1 . .

X2+a2J Hf rVX —an & Va2+X2J°

10. E & 77k v 10. 7€ & 47 0% MEFEEEES 10.6 dhay "2 2 B HA ok 38
Pl =T

12. 1751 = 4 12. 1751 = MEFEEFERL 12.1 iy T2k — S & =8
TH N EE -

14. 43 ME 7 F2 40 v 14. 430k 75 F2 40 MEFEEESR 14.1 fEEd e mE24 014
"FE Sy R AR EHRE -

16. 4l & & 8l 7] & 15 v 16. 4 EfE 1w =

MEFEEES 16.2 AFET > dis==EN
E=1




EEEE

F= A/ B, 315 BE E\%ﬂ/ AZZT A 7 B, 315 B =
BRITERERVEE AL T _— s EETRREHVERE B Ay fht
e (axb)-c=a-(bxc)
e (axbh)y-c=(bxc)-a=(cxa)-b
17. [ =Y EH v 17. [ 2 HYEH AT E2EER 17.1 BB TR AT 5

HEAESTE |-




